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ot p) = /0 E1(t, p)pit. (20)

E=V2/J7—-2y2¢3/|JTT0000000(190000 J=+/200000000000
D00D0000006>6>0000000000000JeT=K2+0,V2+68)00
O00Aa(y)20000000000000000046,>6 >000000000Aa(y)O
JOODODDDDODDODDODODODOJeTOOOOOOOOOOOO

D0000000000¢ #00000 Aa(y) ~clog(J —+/2) 0000000000
000

D000000000AY(v,) 0400000« 00000000000000 I0,(y) =

¥+ AY(y,) OO0

(19)

dt + O(m3).

A 2nm 1 d 2nm $4p d 409
vow = [ yoande= [ potdo mod(2r),

0000000 200000+,000000000A60(v,)00000 00000600
gbooboogobobooogobooo

2nm €T p
Ab(v) = /0 1 x4pd¢‘

000020, 00000000000000 A¢(y,) =A420(y,)00009, 0000000
bb~yOooobbobouooogn
45

M) = A6(m) = [ o + 0,

ool—ZL’
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00000000001, 00000000000000000000000002-00 w0
ooooobooooooboooobooooo oot bil w, 0000w, 0 0,
D000000M,0000000000000000000000 200w, 000000
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000 KAM(Kolmogorov-Arnold-Moser) 00000000 QO0000000Q 0000
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IL,(J) = J + O(mg,e), H,(¥) =1+ fu(J)+ O(ms,e).
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000000000000 WHT,)000 W«T,)0 J, #.,0000000000000
000000000000000000J;—-.4,/00000000000000 W*T4)00
0wW«Ts)0000000000000000000000000000000

000000000000000000
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0000000000J*eT=(W2+0,V2+6,)0000000007,-000000 T%
D0000000000000000<e<e0000<my<e, 00000700000
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00000000000000000000000000000000000

00000000000 -0000000000000000000000000000
000000000000000000000000000000000000000000
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0000000000000000000000

00 7.1. DbycSOO0O0O0O0O000OO
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1. OO0 6y > 1,e1,60, 000 500000 € T,0 < my < 61,0 <m3 <e 000
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2. my=e=000000d0 DoO0O0OO0O0OOOOOOOO

3. 00d0 DOo0oooooouo

00.Xia21]000my=e=000000 ¢e SO0000000000000O0OO0J0000
000000000000m0000002—y000000000000006>6, >0
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0z-y00000000000000 WYg)0O Wss)0000000000000000
000 my0 00000000000 JeT0000 WH(q)D WsS)00OO000O000
000000000000000000000000
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~ 1
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gbb-s0000bbbbuodubyoooobbboogosiuoooobon
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O000Aa(y)0 JOOOOODOOOOONO 6UO00000000O000000JeTO
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000000000 w00000000000d=(d)™'d,0w 000000000 duw=0
O0000000d0O0O0 (exact) DOODO0OO0DO0OODODOOODOOOOOODDOODO O

00 KAMOOO DcC SO0000d0000000mg=e=000 D0 J=J000
00000000000000000000000000000000000000000
0edms0000 D, 000000000 210000000000C,-02000000
0 wWs(Cy,)0200000000 W*C,,)0 20000 0000000000d0000
00000200000 WiCp.)0 W¥C,.)00 474 (Cy)000000000000000
00200000000 X°0000000000000000000 D,O00000O000
0C,0000000000000000000

00 7.1. 6 > 61,61,e:000 ;000 7.1000000C,.0 D,00000O00O00O0O
O0e,0e00000000000<my<e,0000<e<es000WS(Cy)0 WH(Cy)
00000000000000000e>00000004,LceT00|J—4/<e00.J
000000 Ws(C,)0 0000000 WYC,)000000000

0000000000000 0D0DOOOOO0O0O00000000000000000000O
000000000000 000000 (pseudo Arnold diffusion) 000000 O0OOO0OO
00dd00doooooooooon by ooooooooobooOon
000000000 DODOOO0OO0O0O0O00O0000000000DO0OO0O0000000OO00Oa
O0000ODO0ODOODOODOODOODOODOODOODOOOOOO (D0O00O08100)ooood
0000000oD0ooooooooOoO00ddooooooooooooObOoboo0endOOO
000 00¢—o0o000 limsupmaxr;; = oco 00 liminfmaxr;; <coOOOOOOOOOO
ooobr;0:000;0000000000000000000000000000000
Ododdooooooooooooa

00 72. 0000000000000 000O00OODOODOOOO0bObOoDbOobOn
Ub0t—ool OO
limsup|z| >0 000 liminf|z| =0,

Ooboooboobbdbbwdoooboob 710000000000 dy,0y,0,,,...0
gobobouogggooo

Ubb0¢t0ococlU0 —colUOOOOLDODDODUOOOOOOODODDODOOOOODDODOO
goboboogouooboboboooobboboooobbbboooon
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. uuunoono
gobobodggelgriougr20bdgoobobboboriobbodggo

gOo71ggg.

C,-0 D,00O0O0O0ODODOOOmMg =e=000JO00000O0O0O0O0ODOOO0O0OO
J=J"0000000000000000DO00000bo0bobobobobOboooooobooo
gooboooooobobboooobobbbodoobuo0 Fobbbooooobbbobooo
00 (Xia[21])O Lyapunov-Schmit O ruduction 0 D0 00ed m; 0000000 WH¥(Cyx) O
ww(C,,)0DOOOOO0O00000000000000JO00000000000000eO mg3
000000000000 0000DO0000O00DO000DO0bODOO0DOOJOOO AJODO
goodooobobbbooooooouooooon

—2myex? sin ¢ cos 3 ) )
dJ/d¢ = -1 O .
/49 1—a%p +(1—23:2(:os¢—|—3:4)5/2 + Olmae, mg, )
me0O00D00OO JOOOAJOODOOODOOODOOODOOODOOODODOOyOOOO Dy
O0000oooooooDDpi0O0 JOOOOUOOOOgp=00000v000 ¢0000

goooooooo

0 —2mgyex* sin ¢ cos ) 3
A= | -1
J - 1— 2 * (1 — 222 cos ¢ + x4)5/2 d¢
0 —2myex? sin ¢ cos(v) — 1)
= oS wo/
oo 1—24
3
1 d
X ( + (1 — o2 cos¢+$4)5/2> ¢ (21)
+ sin s /_ maex sin ?jzf;(w o)

3
—1
% < - (1 —2x2008¢+x4)5/2> a¢
= Acosy + Bsin .

oooooboodoooobooobooodybODODOOOOODODODOOOODODOOO AD
BOOUOODOOODDODOO0O0O0DOOOOOOODOO (1/)DOODOOODODOOOO

[0 —2mgeg” sin ¢ cos(y — 1) 3
A= /—oo 1+ Jat <_1+ (1—252(:os¢—|—€4)5/2>d¢
+0(m3e), (22)
[0 2mge?sin ¢ sin(y — thy) 3
B = /—oo 1+ Jat <_1+ (1—2§QCOS¢+€4)5/2> a¢
+0(m3e).

J=+200000000000200000000000000046, >4, >000000
00000000 JeT=(V/2+6,V2+6,)00000A0 BOOOOOO0OOOOO0O0O
000000J—+2000000 #£00000 Br~e(J—+/2) 20000000000
0ono
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D,Cc S00071000000C,.0 D,0000000000J=~hx)00C,0000
0000Ay)000000¢00000200000J=mn)0004'00000 J=h(v)
0000000000000000000710000000000000004d,0 500
¢0000d00000 WHq)0 WS)0000000¢'000000000000000
00000OmeeDd 1000000004;'00000000

dit: (J,0) = (J + Acos(¥ + b) + Bsin(y + b), ¥ + b).

OO0s0DO0OOOOO0O0Op0O0OD0 —cocOOOOOpOOOOOOO

0 1 1
b= | —dé = > Maly) + o(m3e) # 0.
-0 1 —2a"p 2

h(¥)O h(y)000000000000000
hi(1) = h(yp — b) + Acos ) + Bsiny + o(mae).

0000J=h(¢)000d,'00000 J=h(y)000000000000000000
0710000000000000000000000

hao(10) = h(v) + b) + Acosy) — Bsiny + o(mae).
00d00000 h(¥)=mh()00000000000000000
h(y) — b) — h(y) + b) + 2Bsiny = 0. (23)

()OO0 00000 2r000000AR(x) 000000 cosine0 000000000000
h(y) = a, cos(ni).
n=0

000000 (3)0Dooocoooooo

2a, sin(nb) sin(ny) =0, for n#1
2a; sinbsiny + 2bsiny = 0.

Oopbooooo m, 0O000O0O0DOO0ODODOONn # 100004 =0000000
ap=B/snb000000000000000O0O0O

Bcosy
sinb

00040000000000000000000JO000000000050000000
0000000000000 00000000000000000000000000000
D00000000700000 —co<¢<ooO0O0000z=E¢+m)000y=n(¢~+7)

h(v)) = ag + + h.o.t.
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A =

—0 1—2a4
= A cos )y + Bsin .

T —2meex?sin ¢ cos <_1+ 3 )dgb

(1 — 222 cos ¢ + x1)5/2 (24)

D000 0000000000000000000y0e=00000y¢0000000
gbobob~yooobbouoogoobooo

— 0 2myeltsin ¢ cos(v) — ) 3
A= /_oo 1+ Jat <_1+ (1+2§2cos¢+§4)5/2> a¢
+o(mae), (25)
=_ /0 —2myeét sin ¢ sin(¢ — 1) <_1 N 3 ) do
o 1+ Jat (14282 cos ¢ + £4)5/2
+o(mae).

00000000 J=420000000000000000000000000 (15)000
A(J)=4A(y/=1J)0D00O B(J)=B(v/=1J)OOOOA(J)O B(J)OOOOOOOOOO 4(J)
0 B(J)DOOOO0OOOO0O

000 C,000000000000000000000000000000000 d,4d;
000d,00000000W:(q)0 WS)0000000000000000000000
p0000000000000O00p00000p00000000000000004d,4,0
d,000000000000000000J=~n)000d, 000000000 Cy.00
00000000 K(p)000D000000000

hi(¥) = h(p —b) + Acostp + Bsiny + O(mie)

= a9+ 2 cos(v —b) + Acosy + Bsin + O(mie).

O00s0000000000~000000000000

_ T 1 0 1
b:/ d:/ d O 277 )

oo 1 —a%p ¢ —oo 1+ JEX(9) ¢+ O(my, e,ms)
DDDDDDDDJ:EQ(QMDDDEQ_IDDDDDDD Cp-00000000000O0000
HNERERE

B - = —
hao(v) = ag + — cos(v) + b) + Acos ) — Bsin + O(m3e).

000000000020000 J=mn({)0J=h(x)00000000000000 Cy-
000000000000000000000D000B # Bsind/sinb00020000 hy(¢)
O h()0 eDmy000000000000000000D0DOOOOOOOOOJO V2
0000 BO0KD0D000000B~c(J—v2)200b~clog(C—+2)000000
0006 >6>0000000000JeT=(V2+6,V2+68)0000 B +# Bsinb/sinb
0000000000 10000000W*(Cy)0 W¥C,-)000000000
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OO0 MOOOOOOODO QQUOOODOODOODO

00 8.1.(1)C,-0S0000d0000000O00UDX*0030000000000
00¢0000C,,000000 W C,-)000000000000Q=UgU(¢)D0 UDD
000000000000000000000000C,.0000000 WYCy)0000
0¢00000Q0¢ 0000 WHC,.)000000

(2) Cy,,Cp,,Cyp,...00071000000000000¢=1,2,3,...00000C,, 00
00000 ¢,,0000000000000000C,00000000¢,,, 000000
00000000x%00000000000000X»0030000000000400
00 ¢, 0000000000000000Q=U,U(¢)0 0000000000000
0000000000000 Q00000,;0000 WC,,)00000000 W*Cy,)0
ooooo

00.0000¢eW(C)0000 eCrCcSO00¢— 00000 q¢) — 00000
0000000 ¢ e WY(q) 00 QO ¢*0000 W¥(Cy)000000000000

000 SO000000000000000000 21000 (Robinson[16))0000000
0000000 (graph transform) 000 0000000000000000000O00O
000000 UD0C 00000 5, 0000000000000000 % cSO0S00q
000000D0000000000000:>0000 WYS,)00 ¢*000000 U, 00
0000000000 MU)0000 C*0000,000000000000¢*000
0w*s,)00000000000000000-0000I"U)CcQO0000O0000on
00000000 Q0 ¢ e W¥q)000D0 WYC,)000D000

00QO0000¢ e WyC,)00O00 WHC,-)00D0000000000000000
@4, 00000qg € W), d(q1) = q2,d(q2) = g3,---,d(qr—1) = d(gx) 000 ¢* €
Wiu(q)0000000q =di'()0000000 ¢f € W) 00000000000Q
00000 WYC,)000000000000d00000000 0000 I*U)O
Wi(g)0O00000000UO Wi(e)0ODOO0000000000000000000
i=1,2,...,k0000 W(¢;)00000000000000¢ €W¥(q,)00 QO ¢*000
0OW«(C,)00000000000000UD000 ¢ eW*C,)000000000 Cy0
000000d000000000¢ eU0q¢eWs(C,)000000000C,,0000
GG, 0 ¢ €W (qr),d(q1) = qa, ..., d(ge—1) =000 ¢* € W*(q) 000 O0000
000000000000000 U0 WH(C,) 000000000 W(C,-)0000000
0000000000000000000000000000710000000000000
O
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0000000UDDO000O0000 ¢ e WY(,) 0000 0000000000000
000U, 000000 ¢@00000000000000 0, 000000000 ¢0000
:000000000000000U,0 0, 0000 ¢0000000000000000
U,0000000 00000 UpO Wé(g;)0O0O000 ;0000000000000
00000000000 UD000O000OO0O0ooooon

UDUlDUlgDUlggD"',

gbobboobbobuodbbuooodgbbbuogbbuodgbbtdgbbbuoooobbbn
gobobboogbuoggobbobouodubguoobbbbououoonobobgb
Ooododooboobg —-occoddooooono

limsup|z| >0 OO0 liminf|z| =0.

000000 q,qqs,---000000000000G0000 0000000000000
00000000000 000000000g000000000000000000
00000 72000000000 O

goe1000.

T:0Q,000000000JeT=(2+6,V2+8)0000000e=my=000T¢
0000000000000 SO0000000000000000000000000000
De>00000000000007T¢0000000000SO0000000000000O0
0000 s, 00000005 000000000000000S00000000000 S
000 0000000 s 07¢000000000S00000000000000s30
000000000000 s'0s000000000000000000000000

00 82. 8 >0, >0,e>0,e>00000000000<e<e0000<mg<ec00
00JeT=(W2+6,V2+6)00s 00000000 s00000000000000
Y OOoOoo0oo0ooooooo

00.00J0%0S00000000000J=A%) 0000000000000 A®®)
0000000000000000000000 s$0 J=h(—y)00000e=m3=000
OO0Wu(s;) O 27000 {(z,y) =p;¢0=0}000 27000 {(z,y) =Po=7000
O0Wss;)DO0O0O0O0000000000000000000000O JO0O0OoDoOooOoOoOO
Oy000000e000000OO00O0OO00O0OO0O0ODOOOO0O0ODOOODeDOODOO Y
0000000000000 0b0000b00o0ooDbOoobOo00yODO0OyOOOooDO
O0si000s0JO00000000000O00OO0O0O0OC=mn({x)000 di'00oooono
J=h(y)0ODOODODODOOOO0O0ODOOOOO

hi(10) = h(vp — b) + Acosp + Bsiny + h.o.t.

000 ABOOOWOIOODOOOODOOOOODODOO0O0ODOODO0O0O0O0D0O00O00OO0 dy?
OboobobD s;00boobuooboong

J =hi(—¢) = h(—=¢ — b) + Acos(—) + Bsin(—) + h.o.t.
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000000000000000000
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00 p00000p;0000J=hy(¢)0004d;,,0000000sj0000000000
00000000000

T = ha(sh) = h(sb — 2) + 2B sin(e — b) + O(e) + h.odt.
DDDDLE}DTDDDDD ssdbuuoggogoog
J = ha(—v) = h(—1p — 2b) + 2Bsin(—¢ — b) + O(e) + h.o.t.
00200000 AK(0)A00000000000O
h'(—2b) + 2B cos(—b) + O(e) # 0,

O000000000e0000000000000 R (—2b)+2Bcos(—b)#0000000
ooOoooOooooon
0000000000000000000JeT=(V2+0,,vV2+6,)0000 A'(-2b) +
2Bcos(—b)=0000000000000000000000000000 ps00p;000
0pU000040 DOD0p; 0000 pOD0OD e000000000000OO0O0O0O0O
O0000000000000000000000000000

h'(—4b) + 2B cos(—3b) + 2B cos(—b) # 0.
goddooooobbboooooooououoboobobboouoo
h'(—4b) 4+ 2B cos(—3b) + 2B cos(—b) = 0.
O0Oo0ooOoobO ke=1,2,3,.. 0000000000000
h'(—2kb) — 1'((2k — 2)b) + 2B cos((2k — 1)b) = 0.
b/200000000OKM(Y»)DDDOOOODOOOOO
R (¥ +0b) — W (p—0b)+2Bcosyp =0, forall ¢ €St (26)

O0si0ss00000000000DO0DOO0DOO0DOOOOO)OO0OO0OO0OO0OO0ODOODO
000000 A(y)DDDOOOODOO0OOOOO0OO

h(v) = i a, cosni) + by, sinni.

k=0
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